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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at the 
standardisation events which all associates participate in and is the scheme which was used by them in 
this examination.  The standardisation process ensures that the mark scheme covers the students’ 
responses to questions and that every associate understands and applies it in the same correct way.  
As preparation for standardisation each associate analyses a number of students’ scripts.  Alternative 
answers not already covered by the mark scheme are discussed and legislated for.  If, after the 
standardisation process, associates encounter unusual answers which have not been raised they are 
required to refer these to the Lead Examiner. 
 
It must be stressed that a mark scheme is a working document, in many cases further developed and 
expanded on the basis of students’ reactions to a particular paper.  Assumptions about future mark 
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of 
assessment remain constant, details will change, depending on the content of a particular examination 
paper. 
 
 
Further copies of this mark scheme are available from aqa.org.uk 
 
  

Copyright information 
 
AQA retains the copyright on all its publications. However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own 
internal use, with the following important exception: AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third 
party even for internal use within the centre. 
 
Copyright © 2020 AQA and its licensors.  All rights reserved. 
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Listening and Reading tests 
 
General principles of marking 
 
Non-verbal answers 
 
Follow the mark scheme as set out. 
 
Verbal answers (English or target language) 
1. The basic principle of assessment is that students should gain credit for what they know, understand 
and can do; provided their written response communicates the required message without ambiguity, it 
will get the mark.  The following guidance should be borne in mind when marking. 
 
(a)  Credit should be given for all answers which convey the key idea required intelligibly and without 

 ambiguity.  This applies whether the answer is in English or target language.  A separate assessment 
 of spelling, punctuation and grammar is not required because of the nature of the answers.  
However, these aspects are an integral part of assessing communication and marks cannot be 
awarded where errors in spelling, punctuation or grammar lead to a failure to communicate the 
required information without ambiguity. 

(b)  Where a student has given alternatives or additional information in an answer, the following criteria 
 should be applied: – if the alternative/addition does not contradict the key idea/make it ambiguous, 
 accept – if the alternative/addition contradicts the key idea or makes it ambiguous, reject. 
(c)  Where numbered lines are given within a question/section of a question, credit should be given for 
 correct answers, no matter which line they appear on. 
(d) Where a question has more than one section (eg (i) and (ii)), a candidate may include as part of the 
 answer to one section the information required to answer another section, eg, in Listening, 
 information required to answer section (ii) might be given as part of the answer to section (i).  In such 
 cases, credit should be given for having answered section (ii), provided that no incorrect answer has 
 been given for that section in the correct place on the question paper. 
 
2. In questions where students are asked to give for example a list of three items, only the first three 
items they write down should be considered for assessment purposes. 
 
3. No mark scheme can cover all possible answers.  When in doubt, look for the key idea. 
 
4. Where a student has crossed out an answer and what was underneath remains legible then it should 
be marked.  When part of an answer is crossed out, then only what remains should be considered. 
 
5. .../.. means that these are acceptable alternative answers in the mark scheme.  (.....) means that this 
information is not needed for full marks to be awarded. 
 
6. The following general principles should be applied in relation to answers in the target language: 
(a)  Incorrect personal pronouns – accept (unless this causes ambiguity). 
(b)  Incorrect possessive adjectives – accept (unless this causes ambiguity). 
(c) Wrong gender – accept (unless this causes ambiguity). 
(d) Infinitive – will normally communicate without ambiguity, so should be accepted. 
(e) Wrong tense – accept as long as student comprehension is not in question. 
(f)  Minor spelling errors – accept as long as the answer is understandable with no ambiguity.  This 

means that even if the spelling error results in the creation of a word in another language
 including English, then provided it is a recognisable attempt at a spelling in the target language, it will 
 be credited. 
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Section A Listening 
 
Comprehension questions to be answered in target language but with no AO3 marks. 
 
Where the natural answer to a question consists entirely or partly of words or phrases from the 
recording, students may use that material without rephrasing it. Minor spelling errors which do not distort 
the meaning will be tolerated. However, the AO1 mark will not be awarded for a response in which the 
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an 
element from the original which does not match the phrasing of the question set. 
 

Qu Accept Mark Notes 

01 B, C, F, G, L 5 In any order 

 

Qu Accept Mark Notes 

02.1 

pNjabI iPlmA iv<c ]wakarI wI 

[us wI KUbsUrqI lzI 

‘ims vrld pNjabx iKqab’ lzI 

2 
Any two details 

One mark for each detail 

 

Qu Accept Mark Notes 

02.2 
(gurwuvair]A iv<c) Cote b<ic]A ¥ pNjabI 
pfHazI  1  

 

Qu Accept Mark Notes 

02.3 

[uh ]astRelI]a iv<c pEwa hozI sI pr ]sl 
iv<c [us wa jnm pNjab iv<c hoiz]a sI .  

 
1 

Reject: 
[us wa jnm pNjab iv<c hoiz]a sI .  

On its own 
 

Qu Accept Mark Notes 

02.4 
SISe ]<ge ]wakarI krn qoM / ]apxe-]ap 
nal g<lA krn qoM 

1  

 

Qu Accept Mark Notes 

02.5 
madilNg krn wI  [1 mark]  
pNjabI iPlmA iv<c kNm krn wI  [1 mark] 

2 One mark for each detail 
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Qu Accept Mark Notes 

02.6 
(mnmohn isNG ]qe hrBjn man ne) tI 
vI qe ‘ims vrld pNjabx’ mukabla 
weK ke rol wI peSkS kIqI . 

1  

 

Qu Accept Mark Notes 

03.1 
ibhar iv<c ]<q wI grIbI hox krke 
ibhar iv<c kNm na imlx krke 
kNm krn ]a[uMwe hn 

1 Any one detail 

 

Qu Accept Mark Notes 

03.2 

ik[uMik ibharI mZwUrA ne [unHA we kNm  sAB 
lze hn  [1 mark] 

ik[uMik pNjab we mZwUrA ¥ G<t qnKah qe 
kNm  krna pEMwa hE  [1 mark] 

2 One mark for each detail 

 

Qu Accept Mark Notes 

03.3 

ibharI mZwUrA wI igxqI vW rhI hE  

[1 mark] 
pNjabI lokA wI igxqI G<t rhI hE / [uh 
ivweS ja rhe hn  [1 mark] 

2 One mark for each detail 

 

Qu Accept Mark Notes 

03.4 

irkSa cla[uMwe sn 

KeqA iv<c mZwUrI krwe sn  

iksanA we nOkr sn  

2 
Any two details 

One mark for each detail 

 

Qu Accept Mark Notes 

03.5 

[uh ]mIr ho gze hn  

iZ]awa pEis]A vale kNmA qe [unHA wI srwarI 
hE 

v<dI]A v<dI]A koTI]A bxa[uMwe hn  

1 Any one detail 
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Qu Accept Mark Notes 

03.6 
isnma GrA iv<c ihNwI iPlmA wI Brmar  

[1 mark]  
ihNwI ]KbarA wI vW rhI igxqI  [1 mark] 

2 One mark for each detail 

 
Summary question 
 

Qu 04 Key idea Mark Notes 

Bullet 1 

wosqA /irSqewarA nal ]OnlazIn g<lA kr skwe hA 

]apxI kNpnI lzI GroM bETe kNm kr skwe hA 

GroM bETe cIZA vec ]qe KrIw skwe hA 

izNtrnE>t qe Koj krke pfHazI kr skwe hA    

izNtrnE>t qe g<lA krn nal Krc G<t ]a[uMwa hE  

3 
Any three details 

One mark for each detail 

Bullet 2 

in<jI / bEMk Kaiq]A wI jaxkarI wI corI ho skwI hE 

kNip[Utr iv<coM ZrUrI PazIlA gaizb ho skwI]A hn  

izNtrnE>t wI vrqoM nal smA brbaw ho skwa hE  

]SlIl sm<grI b<ic]A ¥ gumrah kr skwI hE  

2 

Any two details 

One mark for each detail 

Reject: 

corI ho skwI hE 

Bullet 3 

izNtrnE>t wI vrqoM vele b<ic]A qe nZr r<KxI  cahIwI hE  
[1 mark] 

ZrUrI jaxkarI wI corI ]qe b<ic]A ¥ glq vE>bsazItA 
qe jax qoM rokx lzI kNip[Utr qe izNtrnE>t sur<iK]a 
lzI saPtve]r lga[uxa cahIwa hE  [1 mark] 

2 One mark for each detail 

 
The marks for content (AO1) and language (AO3) are awarded independently. Long summaries will be 
marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a 
sentence or main clause) between 90 and 100 words. Short summaries are not subject to an automatic 
penalty but in practice are unlikely to include all the required content points and will therefore be self- 
penalising. 
 
The AO1 mark is awarded for content points which contain the required information, regardless of 
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the 
recording. However, no AO1 mark will be awarded for a content point where the student includes 
irrelevant material or copies inappropriately from the stimulus, eg by ‘lifting’ an element from the original 
which does not match the phrasing of the bullet point.* ‘Lifted’ language will not be eligible for credit 
when the AO3 mark is awarded. 
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*Generic example of ‘lifted’ language: 
 
1 
Text includes  Having finished her studies, she became a doctor. 
Summary task includes the bullet point What she did before becoming a doctor 
Correct answer is  She studied 
Student writes in response to that bullet point Having finished her studies, she became a doctor 
No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit 
for AO3 because of lifting.) 
 
2 
Text includes … because computers will replace teachers 
Summary task includes the bullet point Technological changes anticipated 
Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, Teachers 
will be replaced by computers 
Student writes in response to that bullet point because computers will replace teachers 
No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no credit 
for AO3 because of lifting). 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
incorrect but close to correct spellings 
incorrect singular/plural agreement. 
 
Serious errors include: 
incorrect verb forms 
incorrect use of pronouns 
missing or incorrect agreements of gender and adjectives. 
 
Complex language includes: 
use of pronouns of all types 
tenses that support conceptual complexity 
connectives supporting a range of subordinate clauses including those requiring subjunctive 
constructions with verbs and verbs followed by infinitive with correct preposition 
use of present and past participles. 
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Mark AO3 quality of language marks in listening and reading summary tasks 

5 
The language produced is mainly accurate with only occasional minor errors. The student 
shows a consistently secure grasp of grammar and is able to manipulate complex language 
accurately where required by the task. 

4 
The language produced is generally accurate, but there are some minor errors. The student 
shows a generally good grasp of grammar and is often able to manipulate complex language 
accurately where required by the task. 

3 
The language produced is reasonably accurate, but there are a few serious errors. The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate complex 
language accurately where required by the task. 

2 
The language produced contains many errors. The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately where required by the 
task. 

1 
The language produced contains many errors of a basic nature. The student shows little grasp 
of grammar and is rarely able to manipulate complex language accurately where required by 
the task. 

0 The student produces nothing worthy of credit. 

 
 
Indicative content 
 
Summary 1: 90 words – AO3 5/5 
 
izNtrnE>t ne pNjab we lokA we jIvn iv<c bhuq v<dI qbwIlI il]AwI hE . hux [uh ]apxe bahrle weSA iv<c bETE sak-
sbNWI]A ]qe im<qrA nal ijNnHA icr mrZI g<lbaq kr skwe hn . iviw]arQI izs wI vrqoM krke pfHazI kr skwe hn . 
pr izNtrnE>t wI vrqoM smJwarI nal krnI cahIwI hE ik[uMik izs qe sarI jaxkarI shI nhIM huNwI, quhadI]A PazIlA 
]cank ]lop ho skwI]A hn ]qe quhadI iv]kqIgq jaxkarI corI ho skwI hE . maip]A ¥ cahIwa, ]apxe b<ic]A qe 
nZr r<Kx, kNip[Utr ]qe [unHA wI suir<K]a lzI kozI pRogram izNstal krn . 
 
 
Summary 2: 90 words – AO3 4/5 
 
izNtrnE>t rahIM pNjab we lokA we jIvn iv<c bhuq v<dI qbwIlI ]azI hE . hux [uh bahrle weSA iv<c bETE pirvar we mEMbrA 
nal ijNnHA icr cahe g<lbaq kr skwe . iviw]arQI izs wI vrqoM krke pfHazI kr skwe hE . pr izNtrnE>t wI vrqoM smJ 
nal krnI cahIwI ik[uMik izs qe sarI jaxkarI TIk nhIM huNwI, quhadI]A PazIlA ]cank gu]ac vI skwI]A hE ]qe 
quhadI in<jI jaxkarI corI ho skwI hE . maip]A ¥ cahIwe, ]apxe b<ic]A qe nZr r<Kx, kNip[Utr  wI suir<K]a lzI kozI 
pRogram izNstal krn . 
 
 
Summary 3: 90 words – AO3 3/5 
 
izNtrnE>t nal pNjab we lokA wI ijNwgI iv<c bhq Prk . hux [uh bar bETE pirvar we mEMbr nal wer qk g<lA kr skwe . 
iviw]arQI]A izs nal pfHazI kr skwe hA . pr izNtrnE>t smJ nal vrqoM krnI cahIwa ik[uMkI izs qe sarI kuJ Tik 
nhIM huNwI, quhade PaizlA ikse vele guNm vI skwe hE ]qe quhadI jaxkarI corI ho skwe hE qe bce glq pase ja skwa hE . ma 
pe ¥ cahIwe, ]apxI b<ic]A ¥ weKn jw izNtrnE>t qe hunwe, kNip[Utr wI rakI lezI kozI pRogram lga skwe . 
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Summary 4: 90 words – AO3 2/5 
 
]EtrnEt nal pNjab we lok jivn iv<c bhq Prk . hux [uh kr bETE prvar we loka nal wer qk g<lA baqa krwe . prn 
vale izs nal prazI kr skwe hA . pr ]EtrnEt iq]an nal vrqna cahIwe ik[u jo izs ivc sb kuC Tik nhIM hA, Quhade 
jrUir pepr ikse vele guNm vI skwe hE ]qe Quhada jankarI cor le skwe qe bce glq pase ja skwa hE . ma pe ¥ wekna, 
]apxI b<ce]A ¥ weKn jw ]EtrnEt qe hunwe, kNip[Utr wI rakI lezI kuC kr skwe . 
 
 
Summary 5: 90 words – AO3 1/5 
 
]EtrnEt qe jivn iv<c bhq Prk hA pnjabI log . hux g<lA krwe hA ]qe kr bETE prvar we loka nal ho jAwa . prazI 
kr skwe hA smA krab he prn vale hA . zes ivc sb kuC pqa nih ik[u jo Tik nhIM hA ]EtrnEt vrqna cahIwe iq]an 
nal he . guNm vI skwe hA Quhade jrUir pepr ikse taizm he ]qe le skwe jankarI cor qee glq pase bce ja skwa hA . ma pe ¥ 
wekna hA , ]EtrnEt qe ]apxI b<ce ¥ weKn jw hunwe he . 
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Section B 
 
Question 5 Translation (into target language) 
 
Guidance on level of accuracy in translations into the target language 
 
Errors of spelling 
Errors of spelling will not be tolerated. 
 
Verb endings and verb forms must be correct. 
 
Alternative answers 
Alternative answers offered by the candidate – even if one is in brackets – will be rejected unless both 
answers are correct. 
 
A successful translation 
A successful translation is one which includes each element of the text to be translated and where there 
is no omission or paraphrase. 
 
Repeated errors 
Where a candidate repeats the same error within a question, no further penalty will be imposed in 
awarding the mark. 
 
 
 

Qu  

5 The table below shows the type of answer that is acceptable for each section of the text. 
Award one tick per correct section then use the conversion grid to award a total of 10 marks. 

Box  Accept Reject 

1 Some students think kuJ iviw]arQI socwe hn  

2 it is amusing izh mZak valI g<l hE  

3 to assault ku<tmar krna  

4 a meagre rickshaw puller, grIb irkSe vale wI,  

5 to pull iK<cxa  

6 a train’s chain, rel g<dI wI cen  

7 or to create havoc jA BNn qof krna  

8 in theatres. QIzetrA iv<c .  

9 If this is not je izh nhIM hE  

10 hooliganism, guNdagrwI,  

11 then what is it? qA iPr izh kI hE ?  
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12 Instead of breaking the law, ka¥n qofn wI bjaze,  

13 these students need to iznHA iviw]arQI]A ¥ cahIwa hE  

14 set a good example. ik iz<k cNgI imsal kaizm krn .  

15 They should emerge [unHA ¥ bahr ]a[uxa cahIwa hE  

16 from their isolated bubble ]apxe ]l<g Gere iv<coM  

17 in which they only debate ijs iv<c [uh isrP   

18 films, sports matches iPlmA, KedA we mEcA  

19 and the teachers. ]qe ]iW]apkA bare bihs krwe hn .  

20 They ought to participate [unHA ¥ ZrUr ih<sa lExa cahIwa hE  

21 actively in politics rajnIqI iv<c srgrmI nal  

22 – this is the best way – izh sB qoM vWI]a qrIka hE  

23 to transform society. smaj iv<c pirvrqn il]a[ux wa .  

24 However, they will need prNqU, [nHA ¥ lof hE  

25 to be vigilant ceqNn hox wI  

26 and not give support [unHA ¥ mww nhIM wexI cahIwI  

27 to any political party ikse vI rajnIqk partI ¥  

28 whose leaders ijs we neqa lIdr 

29 exploit them [unHA wa SoSx krwe hox   Bfka[uMwe 

30 to accomplish their own 
political agenda. 

]apxa rajnIqk mNqv pUra krn lzI .  

 
[10 mark] 
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Conversion grid 

Number of ticks Mark 
 

28-30 
 

10 

25-27 9 

22-24 8 

19-21 7 

16-18 6 

13-15 5 

10-12 4 

7-9 3 

4-6 2 

1-3 1 

0 0 
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Section C 
 
Multi-skill task Question 6 
 
Assessment objectives 1, 2 and 3 
 
Level of response marking instructions 
 
Level of response mark schemes are broken down into levels, each of which has a descriptor. The 
descriptor for the level shows the average performance for the level. There are marks in each level. 
 
Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as 
instructed) to show the qualities that are being looked for. You can then apply the mark scheme. 
 
Step 1 Determine a level 
 
Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer 
meets the descriptor for that level. The descriptor for the level indicates the different qualities that might 
be seen in the student’s answer for that level. If it meets the lowest level then go to the next one and 
decide if it meets this level, and so on, until you have a match between the level descriptor and the 
answer. With practice and familiarity you will find that for better answers you will be able to quickly skip 
through the lower levels of the mark scheme. 
 
When assigning a level you should look at the overall quality of the answer and not look to pick holes in 
small and specific parts of the answer where the student has not performed quite as well as the rest. If 
the answer covers different aspects of different levels of the mark scheme you should use a best fit 
approach for defining the level and then use the variability of the response to help decide the mark within 
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be 
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content. 
 
Step 2 Determine a mark 
 
Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate 
marks can help with this. The exemplar materials used during standardisation will help. There will be an 
answer in the standardising materials which will correspond with each level of the mark scheme. This 
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer 
with the example to determine if it is the same standard, better or worse than the example. You can then 
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example. 
 
You may well need to read back through the answer as you apply the mark scheme to clarify points and 
assure yourself that the level and the mark are appropriate. 
 
Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be 
exhaustive and you must credit other valid points. Students do not have to cover all of the points 
mentioned in the Indicative content to reach the highest level of the mark scheme. 
 
An answer which contains nothing of relevance to the question must be awarded no marks. 
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Assessment criteria 
 
Each assessment objective should be assessed independently. 
 
Students are advised to write approximately 200 words per essay.  Everything that students write must 
be assessed; there is no word limit.  Students writing the recommended length have access to the full 
range of marks. 
 
Assessment Objective 1 
 

Mark AO1 

9–10 

Very good evaluation of the source 
 
The relevant information from the spoken source material has been fully 
understood.  Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions. 

7–8 

Good evaluation of the source 
 
Most of the relevant information in the spoken source material has been 
clearly understood.  Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5–6 

Reasonable evaluation of the source 
 
Some of the relevant information in the spoken source material has been 
understood.  There is some evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

3–4 

Limited evaluation of the source 
 
A limited amount of relevant information in the spoken source has been 
understood.  There is limited evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

1–2 

Very limited evaluation of the source 
 
A very limited amount of the relevant information in the spoken source 
has been understood.  There is rarely evidence of summarising 
arguments/views and of drawing appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 2 
 

Mark AO2 

9–10 

Very good evaluation of the source 
 
The relevant information from the written source material has been fully 
understood.  Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions. 

7–8 

Good evaluation of the source 
 
Most of the relevant information in the written source material has been 
clearly understood.  Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5–6 

Reasonable evaluation of the source 
 
Some of the relevant information in the written source material has been 
understood.  There is some evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

3–4 

Limited evaluation of the source 
 
A limited amount of relevant information in the written source has been 
understood.  There is limited evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

1–2 

Very limited evaluation of the source 
 
A very limited amount of the relevant information in the written source has 
been understood.  There is rarely evidence of summarising 
arguments/views and of drawing appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 3 
 

AO3 

9–10 

The language produced is mainly accurate with only occasional minor errors. 
The student shows a consistently secure grasp of grammar and is able to 
manipulate complex language accurately.  The student uses a wide range of 
vocabulary appropriate to the context and the task. 

7–8 

The language produced is generally accurate, but there are some minor errors. The student 
shows a generally good grasp of grammar and is often able to manipulate complex 
language accurately.  The student uses a good range of vocabulary appropriate to the 
context and the task. 

5–6 

The language produced is reasonably accurate, but there are a few serious errors. The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate 
complex language accurately.  The student uses a reasonable range of vocabulary 
appropriate to the context and the task. 

3–4 
The language produced contains many errors. The student shows some grasp of grammar 
and is occasionally able to manipulate complex language accurately.  The student uses a 
limited range of vocabulary appropriate to the context and the task. 

1–2 
The language produced contains many errors of a basic nature. The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately.  The 
student uses a very limited range of vocabulary appropriate to the context and the task. 

0 The student produces nothing worthy of credit. 

 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
incorrect but close to correct spellings 
incorrect singular/plural agreement. 
 
Serious errors include: 
incorrect verb forms 
incorrect use of pronouns 
missing or incorrect agreements of gender and adjectives. 
 
Complex language includes: 
use of pronouns of all types 
tenses that support conceptual complexity 
connectives supporting a range of subordinate clauses including those requiring subjunctive 
constructions with verbs and verbs followed by infinitive with correct preposition 
use of present and past participles. 
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Indicative content multi-skill task essay 
 
• Impact of fashion on health  (AO1) 
• Fashion impacted most of the college youths (AO1) 
• College girls/young women are crazy about wearing stylish clothes (AO1) 
• Role of education institutions & tailors (AO1) 
• Impact of Western culture (AO1) 
• Today’s parents want their children to keep up with the latest fashion (AO2) 
• Role of social media (AO2) 
• Impact of celebrities from TV, films and Panjabi song videos (AO2) 
• Impact of corporate world and culture of socialising (AO2) 
• Fashion is a necessity to keep up pace with the modern society (AO2) 
 
 




